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QUESTION 1

One of the key benefits specific to DCO is

A. creating test plans from specifications

B. incorporating Ul diagrams into specifications

C. the ability to trace rules back to their specifications and requirements
D. importing requirements from an external system

Correct Answer: D Section: (none)

QUESTION 2

A Work Party used for natification purposes typically contains information about a (an)
A. Organization Unit

B. Division

C. Work Group

D. Person

Correct Answer: C Section: (none)

QUESTION 3

Which statements about the following case are true? (Choose two)

1. Stage 1 2. Stage 2

A. Stage 2 is an alternate stage.

B. Stage 2 is a resolution stage.

C. Stage 1 automatically transitions to Stage 2.
D. Stage 1 is a resolution stage.

E. Stage 1 is a primary stage.

Correct Answer: BC Section: (none)

Latest PEGACPBA71V1 Dumps | PEGACPBA71V1 PDF Dumps | PEGACPBA71V1 Braindumps 2/3


https://www.pass2lead.com/pegacpba71v1.html
https://www.pass2lead.com/pegacpba71v1.html
https://www.pass2lead.com/pegacpba71v1.html

P 2L d https://lwww.pass2lead.com/pegacpba7lvl.html
ass ea 2024 Latest pass2lead PEGACPBA71V1 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 4
Review the following Decision Table.

What is the expected result for an auto claim type, with a value of 3700, which involves 4 parties? Assume that
evaluation stops upon encountering the first correct result.

A. None of the allowed results can be reached as the decision table contains unreachable rows
B. Approve

C. Escalate

D. Reject

Correct Answer: C

Section: (none)

QUESTION 5

Key Performance Indicators (KPIs) are used to

A. determine whether an application has satisfied all of its requirements

B. determine if an application has met all of its business objectives

C. verify whether end users are satisfied with the application

D. determine whether or not an application has implemented all of its specifications

Correct Answer: D Section: (none)
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